# Report of Fundraising Activities



# Sheriff's Athletic Federation Mud Run 2019

The Sheriff's Mud Run was held at the Glen Helen Speedway on November 16, 2019. The following is an overview of the Sheriff's Athletic Federation (SAF) Committee donations that were made to a variety of charities and encourages the participation of local youth to include Sheriff's Explorer Posts, and High School ROTC. This report includes an estimate of the time spent by County employees in support of the 2019 Mud Run (May 2019 to November 2019). There are also well over 60 volunteers from the community, including County employee volunteers, who dedicate their time to this worthy cause.

In years past, the SAF has provided a wholesome family and community event that promotes lifetime fitness and teamwork. For the 2022 event, our beneficiary will be the Cannonball Memorial.

Name		<u>Amount</u>
Warfighter Made		\$5,000
Central Explorer Post #508		\$300
Total		\$5,300
Additional Donations	<u>Equipment</u>	<u>Amount</u>
Fontana Sheriff's Station	Treadmill	\$3,200
Yucaipa Sheriff's Station	Treadmill, Rack,	
	Barbell/Plate set,	
	Cable Machine	\$7,124
Central Detention Center	Treadmill	<u>\$2,970</u>
Total		\$13,294

### Sheriff's Athletic Federation Mud Run 2019 – Beneficiaries

#### GRAND TOTAL - <u>\$18,594</u>

# Sheriff's Athletic Federation Mud Run 2019 – Hours

<u>Employee</u>	<b>Classification</b>		<u>Hours</u>	Hourly Rate	<u>Cost</u>
Danny Rosa	Sergeant		40	\$62.49	\$2,500
Jerred Besheer	Sergeant		40	\$58.18	\$2,327
Alex Collins	Sergeant		10	\$60.97	\$610
Mike Flores	Sergeant		10	\$63.93	\$639
Bruce Southworth	Detective		10	\$49.13	\$491
Mark Reynoso	Deputy		10	\$44.55	\$446
Cristina Olivas	Deputy		10	\$40.95	\$410
Gerania Navarro	Deputy		<u>10</u>	<u>\$49.38</u>	<u>\$494</u>
		Total	140		<u>\$7,917</u>

# **County / Department Assets Used 2019**

County Equipment	Asset Number
Victor Valley OHV	#069189-07
Barstow OHV	#069058-08
Central OHV	#069054-01
County Generator	#91096(Gen.) #34201 (Trailer)
County Generator	#92025 (Gen) #38025 (Trailer)

#### Sheriff's Athletic Federation Mud Run 2019 – Sponsors

Name		Amount
San Manuel Band of Mission Indians		\$35,000
Alaina Matthews XFit		\$10,000
Stater Bros		\$1,250
California Cylinder Corp		\$1,000
Armada Tow		\$1,000
Full Circle		\$1,000
Caston Inc		\$1,000
Cunning Dental		\$1,000
AT&T		\$1,000
Desert Valley Dental		\$500
Teamsters Local 1932		\$500
	Total	<u>\$53,250</u>

### COVID- 19 & Safety Protocols

The Sheriff's Athletic Federation frequently monitors current county, state and federal COVID – 19 protocols and mandates. Due to last year's mandates, the event was cancelled. SAF will continue monitoring and will be prepared to make last minute decisions, if needed. However, the entirety of the mud run is held outdoors, and we currently have plans in place to ensure social distancing occurs during registration.

All staff working the event will have their temperatures checked prior to the event. Additionally, SAF will dispense water bottles as opposed to water coolers, and sanitation stations will be made available. Staff will wear face coverings during the registration process and will be encouraged for all participants.

Adjustments will be made in order to reduce physical interaction between participants and staff. This includes, but not limited to, cashless transactions, self-serve medal collection, self-serve T-shirt collection, and self-serve bag check.

Lastly, capacity will be limited, ranging from 25%-75% of standard capacity, based on state and federal guidelines.